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300Q358: 5 Magnets
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Summary of ITF in 30Q58 (Interpolated at 1.0 and 1.3 GeV)

Average=| 3.0627 | 3.0625 | 3.0605 | 3.0289 | 3.0256 | 3.0008
Std.Dev.=| 0.033% | 0.033% | 0.031% | 0.017% | 0.016% | 0.009%
Maganet ITF ITF ITF ITF ITF ITF From Mean] From Mean|From Mean| From Mean|From Mean|From Mean
ag 814A) | (820A) | (856 A) | (988 A) | (996 A) | (1047 A)| | (814A) | (8204) | (856A) | (988A) | (996 A) | (1047 A)
S58Q02_02
S58Q02_03| 3.0617 | 3.0615 | 3.0596 | 3.0283 | 3.0251 | 3.0004 || -0.032% | -0.032% | -0.031% | -0.019% | -0.017% | -0.011%
S$58Q03_02 | 3.0627 | 3.0625 | 3.0606 | 3.0288 | 3.0256 | 3.0008 0.000% | 0.001% | 0.001% |-0.002% | -0.002% | 0.000%
S58Q04_03 | 3.0629 | 3.0626 | 3.0607 | 3.0294 | 3.0261 | 3.0010 0.004% | 0.005% | 0.007% | 0.015% | 0.015% | 0.008%
S58Q05_02
S58Q05_07 | 3.0620 | 3.0617 | 3.0598 | 3.0285 | 3.0252 | 3.0006 -0.024% | -0.024% | -0.024% | -0.013% | -0.014% | -0.007%
S58Q08_03
S58Q08_08 | 3.0643 | 3.0641 | 3.0620 | 3.0295 | 3.0262 | 3.0011 0.052% | 0.051% | 0.048% | 0.019% | 0.017% | 0.011%
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